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Ubungsblatt 1 ALGORITHMEN & DATENSTRUKTUREN 2

Priority Queues

14. November 2011

Aufgabe 1

Merge (H1,H2):
head = NIL
11 head (H1)
12 = head (H2)
while ( 11 != NIL and 12 != NIL ) do
if ( degree(ll) < degree(l2) ) then
y = 11
h sibling (11)
else
y 12
12 = sibling(12)
if ( head == NIL ) then
head =y
=y
if ( 11 != NIL ) then
if ( head == NIL ) then
head = 11
else

sibling(x) = h
if ( 12 !'= NIL ) then
if ( head '= NIL ) then
head = 12
else
sibling(x) = 12
return head;
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Aufgabe 2
1 |[ExtractMinimum (H) :
2 x = head (H)
3 prev_x = NIL
4 min = x
5t prev_min = NIL
6 if ( x == NIL ) then
7 return NIL
8 prev_x = X
9 x = sibling(x)
10 while ( x != NIL ) do
11 if ( key(x) < key(min) ) then
12 min = x
13 prev_min = prev_x
14 prev_x = X
15 x = sibling(x)
16 if ( prev_min != NIL ) then
17 sibling(prev_min) = sibling(min)
18 else
19 head = sibling(min)
20 if ( child(min) != NIL ) then
21 H2 = InvertChildren (min)
22 Union (head ,H2)
23 sibling(min) = NIL
24 parent (min) = NIL
25 child (min) = NIL
26 return min;
Aufgabe 3
Il |InvertChildren (x):
2 head = NIL
3 current = child(x)
4 next = NIL
5 while ( current != NIL ) do
6 next = sibling(current)
7 if ( child(x) == current ) then
8 sibling(current) = NIL
9 child(x) = NIL
10 parent (current) = NIL
11 sibling(current) = head
12 head = current
13 current = next
14 return head
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